

TWO SEQUENCES OF OPERATOR MONOTONE FUNCTIONS UNDER STRICTLY CHAOTIC ORDER

JIANFEI JIANG, HONGLIANG ZUO AND MEIYAN WANG

(Communicated by T. Furuta)

Abstract. Based on the well-known operator monotone function $\log t$ the chaotic order was defined by $A \gg B$, e.g. $\log A \geq \log B$, and thereby the operator monotonicity of functions under strictly chaotic order has been introduced. However, until now the revealed operator functions with such property have been less than those functions under usual order. In this study, we investigate two sequences of operator monotone functions under strictly chaotic order, following the trace of Professor T. Furuta, S. Izumino and so on. However, the method is different from that of the relative results on

$$f_0(t) = \frac{t-1}{\log t}, f_p(t) = \frac{t - pf_{p-1}(t)}{\log t}, p = 1, 2, \dots$$

due to S. Izumino and N. Nakamura.

1. Introduction

A bounded linear operator A on a Hilbert space H is positive, in symbol $A \geq 0$, if $(Ax, x) \geq 0$ for all $x \in H$. In particular, A is strictly positive, in symbol $A > 0$, if A is positive invertible. The well-known Löwner-Heinz inequality[2] says that if $A \geq B \geq 0$, then $A^\alpha \geq B^\alpha$ for $0 \leq \alpha \leq 1$. This means that the function $t \rightarrow t^\alpha$ ($0 \leq \alpha \leq 1$) on $[0, \infty)$ is operator monotone. Another known example of operator monotone function is $t \rightarrow \log t$ on $(0, 1) \cup (1, +\infty)$ [3]. Based on this fact, the chaotic order $A \gg B$, which is weaker than the usual order $A \geq B$, is defined by $\log A \geq \log B$ between strictly positive operators A and B . Similarly, the strictly chaotic order is defined by $\log A > \log B$.

Recently, Professor T. Furuta, by using Löwner-Heinz inequality, showed the following operator monotonicity of functions

$$\varphi(t) = \frac{t-1}{\log t}, \quad \psi(t) = \frac{t \log t - t + 1}{\log^2 t}$$

under strictly chaotic order:

Mathematics subject classification (2010): 47A30, 47A63.

Keywords and phrases: operator monotone function, positive operator, strictly chaotic order.

The corresponding author Hongliang Zuo was partially supported by NSF(10401027).

THEOREM F. ([4]) *Let A and B be two strictly positive operators on a Hilbert space H . If $\log A > \log B$ with $1 \notin \sigma(A), \sigma(B)$, then there exists $\beta \in (0, 1]$ such that $\varphi(A^\alpha) > \varphi(B^\alpha)$ and $\psi(A^\alpha) > \psi(B^\alpha)$ for all $\alpha \in (0, \beta)$.*

The first author and L. Zhang extended the result about $\psi(t)$ in Theorem F to a sequence of functions

$$\psi_k(t) = \frac{t^k \log^k t - (t-1)^k}{\log^{k+1} t} \quad (k = 1, 2, \dots) :$$

THEOREM J-Z. ([5]) *Assume the conditions as in Theorem F, then for all integers $k \geq 1$, there exists $\beta \in (0, 1]$ such that $\psi_k(A^\alpha) > \psi_k(B^\alpha)$ for all $\alpha \in (0, \beta)$.*

Since $\psi_1(t) = \psi(t)$, we know that Theorem J-Z is an essential extension of Theorem F.

Another extension of Theorem F was given by Professor S. Izumino and N. Nakamura:

THEOREM N-I. ([1]) *Assume the conditions as in Theorem F, then for all integers $p \geq 0$, there exists $\beta \in (0, 1]$ such that $f_p(A^\alpha) > f_p(B^\alpha)$ for all $\alpha \in (0, \beta)$, where*

$$f_0(t) = \frac{t-1}{\log t}, \quad f_p(t) = \frac{t - pf_{p-1}(t)}{\log t}, \quad p = 1, 2, \dots$$

By direct calculation we have $f_0(t) = \varphi(t)$ and $f_1(t) = \psi(t)$, so Theorem I-N is also an essential extension of Theorem F.

In this paper, we study the operator monotonicity of two sequences of functions $f_{pk}(t)$ and $h_{pk}(t)$ ($p, k = 1, 2, \dots$) under strictly chaotic order. We prove that $f_{p1}(t)$ is just $f_p(t)$, and therefore more general results are obtained.

2. Main Result

First of all, we define two sequences of real numbers $\{u_{jk}\}_{j,k=1}^\infty$ and $\{v_{jk}\}_{j,k=1}^\infty$ by

$$\begin{cases} e^{kt} = (1 + t + \frac{t^2}{2!} + \dots)^k = 1 + u_{1k}t + u_{2k}t^2 + \dots \\ (1 + \frac{t}{2!} + \frac{t^2}{3!} + \dots)^k = 1 + v_{1k}t + v_{2k}t^2 + \dots \end{cases}$$

It's easy to know that $0 < v_{jk} < u_{jk} = \frac{k^j}{j!}$ and $v_{1k} = \frac{k}{2}, v_{j1} = \frac{1}{(j+1)!}$, where $j, k = 1, 2, \dots$.

Now the main result in this paper is given below:

THEOREM 2.1. *Let A and B be two strictly positive operators on a Hilbert space H . If $\log A > \log B$ with $1 \notin \sigma(A), \sigma(B)$, then for all integers $p \geq 1, k \geq 1$, there exists $\beta \in (0, 1]$ such that $f_{pk}(A^\alpha) > f_{pk}(B^\alpha)$ for all $\alpha \in (0, \beta)$, where $v_{0k} = 1$,*

$$f_{pk}(t) = \frac{(-1)^p p!}{\log^{p+k} t} [t^k \log^k t \sum_{j=1}^p (-1)^j v_{j-1,k} \log^{j-1} t + (t-1)^k], \quad p, k = 1, 2, \dots$$

To achive this theorem, we should give some lemmas, involving the discussion of the relation between $\{f_p(t)\}_{p=1}^\infty$ in Theorem I-N and $\{f_{pk}(t)\}_{p,k=1}^\infty$ in our theorem.

LEMMA 2.2. $f_{p1}(t) = f_p(t)$ for all $t \in (0, 1) \cup (1, +\infty)$ and $p = 1, 2, \dots$.

Proof. By the definition we know that

$$f_{11}(t) = \frac{(-1)}{\log^2 t} [t \log t (-1v_{01}) + (t - 1)] = \psi(t) = f_1(t).$$

Supposing $f_{j1}(t) = f_j(t)$ for $j = 1, 2, \dots, p - 1 (p \geq 2)$, we have

$$\begin{aligned} f_p(t) &= \frac{t - pf_{p-1}(t)}{\log t} = \frac{t - pf_{p-1,1}(t)}{\log t} \\ &= \frac{1}{\log t} \left\{ t - p \frac{(-1)^{p-1}(p-1)!}{\log^p t} [t \log t \sum_{j=1}^{p-1} (-1)^j v_{j-1,1} \log^{j-1} t + (t-1)] \right\} \\ &= \frac{(-1)^p p!}{\log^{p+1} t} \left[t \log t \sum_{j=1}^{p-1} (-1)^j v_{j-1,1} \log^{j-1} t + (t-1) + \frac{(-1)^p}{p!} t \log^p t \right] \\ &= \frac{(-1)^p p!}{\log^{p+1} t} \left\{ t \log t \left[\sum_{j=1}^{p-1} (-1)^j v_{j-1,1} \log^{j-1} t + (-1)^p v_{p-1,1} \log^{p-1} t \right] + (t-1) \right\} \\ &= \frac{(-1)^p p!}{\log^{p+1} t} \left[t \log t \sum_{j=1}^p (-1)^j v_{j-1,1} \log^{j-1} t + (t-1) \right] = f_p(t). \end{aligned}$$

And hence, we get the conclusion by inductive method. □

According to Lemma 2.2, we know that our theorem is an essential extension of Theorem I-N!

LEMMA 2.3. *If we denote*

$$F_{pk}(t) = \frac{(-1)^p p!}{t^{p+k}} [e^{kt} t^k \sum_{j=1}^p (-1)^j v_{j-1,k} t^{j-1} + (e^t - 1)^k],$$

then

$$F_{pk}(t) = p! e^{kt} \sum_{j=0}^i (-1)^j v_{j+p,k} t^j = p! \sum_{i=0}^\infty w_{pk}^{(i)} t^i \quad (p, k = 1, 2, \dots),$$

in which $u_{0k} = 1$ and

$$w_{pk}^{(i)} = \sum_{j=0}^i (-1)^j u_{i-j,k} v_{j+p,k} \quad (i = 0, 1, 2, \dots; \quad p, k = 1, 2, \dots)$$

Proof. Since

$$\frac{1}{t^k} (1 - e^{-t})^k = \frac{1}{t^k} \left[1 - \sum_{j=0}^\infty \frac{(-t)^j}{j!} \right]^k = \left[\sum_{j=0}^\infty \frac{(-t)^j}{(j+1)!} \right]^k = \sum_{j=0}^\infty v_{jk} (-t)^j = \sum_{j=0}^\infty (-1)^j v_{jk} t^j,$$

we have

$$\begin{aligned}
 F_{pk}(t) &= \frac{(-1)^p p! e^{kt}}{t^p} \left[\sum_{j=1}^p (-1)^j v_{j-1,k} t^{j-1} + \frac{1}{t^k} (1 - e^{-t})^k \right] = \frac{(-1)^p p! e^{kt}}{t^p} \sum_{j=p}^{\infty} (-1)^j v_{jk} t^j \\
 &= p! e^{kt} \sum_{j=p}^{\infty} (-1)^{j-p} v_{jk} t^{j-p} = p! \left(\sum_{i=0}^{\infty} u_{ik} t^i \right) \left[\sum_{j=0}^{\infty} (-1)^j v_{j+p,k} t^j \right] \\
 &= p! \sum_{i=0}^{\infty} \left[\sum_{j=0}^i (-1)^j u_{i-j,k} v_{j+p,k} \right] t^i = p! \sum_{i=0}^{\infty} w_{pk}^{(i)} t^i.
 \end{aligned}$$

□

Now, we should know more details about $\{v_{jk}\}$ and $\{w_{pk}^{(i)}\}$. It is well-known that $(x - 1)^k = \sum_{q=0}^k C_k^q x^q (-1)^{k-q}$ leads to $\sum_{q=0}^k C_k^q (-1)^{k-q} = 0$, by this means and inductive method it is easy to get the lemma below:

LEMMA 2.4. $\sum_{q=1}^k C_k^q (-1)^{k-q} q^j = 0$ for all integers $j: 1 \leq j < k$; $\frac{1}{k!} \left[\sum_{q=1}^k C_k^q (-1)^{k-q} q^k \right] = 1$.

LEMMA 2.5. According to the definition of $\{v_{jk}\}$, we have

$$v_{jk} = \frac{(-1)^k}{(j+k)!} \sum_{q=1}^k (-1)^q q^{j+k} C_k^q,$$

as well as the inductive relation

$$v_{jk} = \frac{k}{j+k} (v_{j-1,k} + v_{j,k-1}) \quad (v_{01} = 1, v_{10} = 0)$$

for $j, k = 1, 2, \dots$.

Proof. By the definition and Lemma 2.4 we know that

$$\begin{aligned}
 t^k \left(1 + \sum_{j=1}^{\infty} v_{jk} t^j \right) &= t^k \left(1 + \frac{t}{2!} + \frac{t^2}{3!} + \dots \right)^k = \left(t + \frac{t^2}{2!} + \frac{t^3}{3!} + \dots \right)^k = (e^t - 1)^k \\
 &= \sum_{q=0}^k C_k^q e^{qt} (-1)^{k-q} = \sum_{q=0}^k \left[1 + \sum_{j=1}^{\infty} \frac{(qt)^j}{j!} \right] C_k^q (-1)^{k-q} \\
 &= \sum_{q=0}^k C_k^q (-1)^{k-q} + \sum_{j=1}^{\infty} \frac{1}{j!} \left[\sum_{q=1}^k C_k^q (-1)^{k-q} q^j \right] t^j \\
 &= \sum_{j=1}^{\infty} \frac{1}{j!} \left[\sum_{q=1}^k C_k^q (-1)^{k-q} q^j \right] t^j \\
 &= \frac{1}{k!} \left[\sum_{q=1}^k C_k^q (-1)^{k-q} q^k \right] t^k + \sum_{j \neq k} \frac{1}{j!} \left[\sum_{q=1}^k C_k^q (-1)^{k-q} q^j \right] t^j
 \end{aligned}$$

$$\begin{aligned}
 &= t^k + \sum_{j \neq k} \frac{1}{j!} \left[\sum_{q=1}^k C_k^q (-1)^{k-q} q^j \right] t^j \\
 &= t^k + \sum_{j=k+1}^{\infty} \frac{1}{j!} \left[\sum_{q=1}^k C_k^q (-1)^{k-q} q^j \right] t^j \\
 &= t^k + \sum_{j=1}^{\infty} \frac{(-1)^k}{(j+k)!} \left[\sum_{q=1}^k (-1)^q q^{j+k} C_k^q \right] t^{j+k}.
 \end{aligned}$$

And hence it follows that

$$v_{jk} = \frac{(-1)^k}{(j+k)!} \sum_{q=0}^k (-1)^q q^{j+k} C_k^q$$

by comparing with the coefficient of t^j .

Furthermore, by the direct calculation, we have

$$\begin{aligned}
 &\frac{k}{j+k} (v_{j-1,k} + v_{j,k-1}) \\
 &= \frac{k}{j+k} \left[\frac{(-1)^k}{(j+k-1)!} \sum_{q=1}^k (-1)^q q^{j+k-1} C_k^q + \frac{(-1)^{k-1}}{(j+k-1)!} \sum_{q=1}^{k-1} (-1)^q q^{j+k-1} C_{k-1}^q \right] \\
 &= \frac{(-1)^k k}{(j+k)!} \left[\sum_{q=1}^{k-1} (-1)^q q^{j+k-1} (C_k^q - C_{k-1}^q) + (-1)^k k^{j+k-1} \right] \\
 &= \frac{(-1)^k}{(j+k)!} \left[\sum_{q=1}^{k-1} (-1)^q q^{j+k-1} k C_{k-1}^{q-1} + (-1)^k k^{j+k} \right] \\
 &= \frac{(-1)^k}{(j+k)!} \left[\sum_{q=1}^{k-1} (-1)^q q^{j+k} C_k^q + (-1)^k k^{j+k} \right] = v_{jk}.
 \end{aligned}$$

□

LEMMA 2.6. $w_{1k}^{(i)} = u_{i+1,k} - v_{i+1,k}$ for $i = 0, 1, 2, \dots; k = 1, 2, \dots$ and $w_{p1}^{(i)} = \frac{1}{(i+p+1)! p!}$ for $i = 0, 1, 2, \dots; p = 1, 2, \dots$.

Proof. By the definition of $\{u_{jk}\}, \{v_{jk}\}, \{w_{pk}^{(i)}\}$ and Lemma 2.3, we have

$$\begin{aligned}
 F_{1k}(t) &= \frac{1}{t^{k+1}} [t^k e^{kt} - (e^t - 1)^k] \\
 &= \frac{1}{t} [(1 + u_{1k}t + u_{2k}t^2 + u_{3k}t^3 + \dots) - (1 + v_{1k}t + v_{2k}t^2 + v_{3k}t^3 + \dots)] \\
 &= (u_{1k} - v_{1k}) + (u_{2k} - v_{2k})t + (u_{3k} - v_{3k})t^2 + \dots
 \end{aligned}$$

and hence, we get $w_{1k}^{(i)} = u_{i+1,k} - v_{i+1,k}$, for $i = 0, 1, 2, \dots; k = 1, 2, \dots$.

While

$$\begin{aligned}
 w_{p1}^{(i)} &= \sum_{j=0}^i (-1)^j u_{i-j,1} v_{j+p,1} = \sum_{j=0}^i \frac{(-1)^j}{(i-j)!(j+p+1)!} \\
 &= \frac{1}{(i+p+1)!} \sum_{j=0}^i (-1)^j C_{i+p+1}^{j+p+1} \\
 &= \frac{1}{(i+p+1)!} \left[\sum_{j=0}^{i-1} (-1)^j (C_{i+p}^{j+p} + C_{i+p}^{j+p+1}) + (-1)^i \right] \\
 &= \frac{1}{(i+p+1)!} \left[\sum_{j=0}^i (-1)^j C_{i+p}^{j+p} - \sum_{j=1}^i (-1)^j C_{i+p}^{j+p} \right] \\
 &= \frac{1}{(i+p+1)!} C_{i+p}^p = \frac{1}{(i+p+1)i!p!}.
 \end{aligned}$$

This completes the proof. □

LEMMA 2.7. According to the definition of $\{w_{pk}^{(i)}\}$ in Lemma 2.3, we have the inductive relation

$$w_{pk}^{(i)} = \frac{k}{p+k+i} \left[w_{p-1,k}^{(i)} + w_{pk}^{(i-1)} + \sum_{q=0}^i \frac{1}{(i-q)!} w_{p,k-1}^{(q)} \right] \quad \text{for } i = 1, 2, \dots; p, k = 2, 3, \dots.$$

where $w_{pk}^{(0)} = v_{pk}$, $w_{1k}^{(i)} = u_{i+1,k} - v_{i+1,k}$, $w_{p1}^{(i)} = \frac{1}{(i+p+1)i!p!}$ for $i = 0, 1, 2, \dots; p, k = 1, 2, \dots$.

Proof. By the definition of $\{u_{jk}\}$, $\{w_{pk}^{(i)}\}$ and Lemma 2.5, we have

$$\begin{aligned}
 \sum_{j=0}^i (-1)^j u_{i-j,k} (v_{j+p-1,k} + v_{j+p,k-1}) &= \sum_{j=0}^i (-1)^j u_{i-j,k} \frac{j+p+k}{k} v_{j+p,k} \\
 &= \sum_{j=0}^i (-1)^j \frac{p+k+i-(i-j)}{k} u_{i-j,k} v_{j+p,k} \\
 &= \frac{p+k+i}{k} w_{pk}^{(i)} - w_{pk}^{(i-1)}
 \end{aligned}$$

and

$$\begin{aligned}
 \sum_{j=0}^i (-1)^j u_{i-j,k} v_{j+p,k-1} &= \sum_{j=0}^i (-1)^j \frac{(k-1+1)^{i-j}}{(i-j)!} v_{j+p,k-1} \\
 &= \sum_{j=0}^i \frac{(-1)^j}{(i-j)!} \left[\sum_{h=0}^{i-j} C_{i-j}^h (k-1)^h \right] v_{j+p,k-1} \\
 &= \sum_{j=0}^i (-1)^j \left[\sum_{h=0}^{i-j} \frac{(k-1)^h}{h!(i-j-h)!} \right] v_{j+p,k-1}
 \end{aligned}$$

$$\begin{aligned}
 &= \sum_{j=0}^i (-1)^j \left[\sum_{h=0}^{i-j} \frac{1}{(i-j-h)!} u_{h,k-1} \right] v_{j+p,k-1} \\
 &\stackrel{q=i-j-h}{=} \sum_{j=0}^i (-1)^j \left[\sum_{q=0}^{i-j} \frac{1}{q!} u_{i-j-q,k-1} \right] v_{j+p,k-1} \\
 &= \sum_{q=0}^i \frac{1}{(i-q)!} \left[\sum_{j=0}^q (-1)^j u_{q-j,k-1} v_{j+p,k-1} \right] \\
 &= \sum_{q=0}^i \frac{1}{(i-q)!} w_{p,k-1}^{(q)}.
 \end{aligned}$$

Therefore

$$w_{p-1,k}^{(i)} = \sum_{j=0}^i (-1)^j u_{i-j,k} v_{j+p-1,k} = \frac{p+k+i}{k} w_{pk}^{(i)} - w_{pk}^{(i-1)} - \sum_{q=0}^i \frac{1}{(i-q)!} w_{p,k-1}^{(q)}.$$

While, we have $w_{pk}^{(0)} = v_{pk}$ by direct calculation, and $w_{1k}^{(i)} = u_{i+1,k} - v_{i+1,k}$, $w_{p1}^{(i)} = \frac{1}{(i+p+1)!i!p!}$ for $i = 0, 1, 2, \dots$; $p, k = 1, 2, \dots$ by Lemma 2.6, then the proof is completed. \square

LEMMA 2.8. $0 < w_{pk}^{(i)} \leq u_{ik} v_{pk}$ for $i = 0, 1, 2, \dots$; $p, k = 1, 2, \dots$.

Proof. Firstly, we have known that $w_{pk}^{(0)} = v_{pk} > 0$ ($p, k = 1, 2, \dots$) by the definition and $w_{1k}^{(i)} = u_{i+1,k} - v_{i+1,k} > 0$ ($i = 0, 1, 2, \dots$; $k = 1, 2, \dots$), $w_{p1}^{(i)} = \frac{1}{(i+p+1)!i!p!} > 0$ ($i = 0, 1, 2, \dots$; $p = 1, 2, \dots$) by Lemma 2.6. And hence it follows $w_{pk}^{(i)} > 0$ ($i = 0, 1, 2, \dots$; $p, k = 1, 2, \dots$) by Lemma 2.7 and induction.

Secondly, by direct calculation, we have $w_{pk}^{(0)} = u_{0k} v_{pk}$ ($u_{0k} = 1$) and

$$\begin{aligned}
 w_{pk}^{(i)} &= \sum_{j=0}^i (-1)^j u_{i-j,k} v_{j+p,k} = u_{ik} v_{pk} - \sum_{j=1}^i (-1)^{j-1} u_{i-j,k} v_{j+p,k} \\
 &= u_{ik} v_{pk} - \sum_{j=0}^{i-1} (-1)^j u_{i-1-j,k} v_{j+p+1,k} = u_{ik} v_{pk} - w_{p+1,k}^{(i-1)} \\
 &< u_{ik} v_{pk} \quad \text{for } i, p, k = 1, 2, \dots.
 \end{aligned}$$

\square

LEMMA 2.9. Let A be a self-adjoint operator on a Hilbert space H . If $a, b \in \mathbb{R}$ such that $0 < a \leq b$, then $aA \geq -b\|A\|I$.

Proof. For $\mu \in \sigma(aA + b\|A\|I)$, there exists $\lambda \in \sigma(A)$ such that $\mu = a\lambda + b\|A\|$. It is well-known that $|\lambda| \leq \|A\|$, so $\mu = a\lambda + b\|A\| \geq b\|A\| - a|\lambda| \geq 0$. Noticing that $aA + b\|A\|I$ is also self-adjoint, it gives $aA + b\|A\|I \geq 0$. \square

LEMMA 2.10. *Let A and B be two self-adjoint operators on a Hilbert space H . If $A > B$, then for all integers $p \geq 1, k \geq 1$, there exists $\beta \in (0, 1]$, which is independent of p , such that $F_{pk}(\alpha A) > F_{pk}(\alpha B)$ for all $\alpha \in (0, \beta)$, where $F_{pk}(t)$ ($p, k = 1, 2, \dots$) are defined in Lemma 2.3.*

Proof. As $A > B$ holds, there exists $\varepsilon > 0$ such that $A - B \geq \varepsilon I > 0$. Denote $\mu_k := \inf_{p \geq 1} \frac{w_{pk}^{(1)}}{v_{pk}}$ and choose

$$\beta = \min \left\{ \frac{\mu_k \varepsilon}{(e^{k\|A\|} + e^{k\|B\|})}, 1 \right\}.$$

Now, it is easy to see, from Lemma 2.5, (i) $v_{p+1,k} = \frac{k}{p+1+k}(v_{p,k} + v_{p+1,k-1})$, and by definition, (ii) $v_{p+1,k-1} < v_{p+1,k}$. thus, by (i) and (ii), we can obtain $v_{p+1,k} < \frac{k}{p+1}v_{p,k}$. Note that by Lemmas 2.3 and 2.8, $\omega_{pk}^{(1)} = u_{1k}v_{pk} - u_{0k}v_{p+1,k} = kv_{pk} - v_{p+1,k} > 0$, thus $\frac{\omega_{pk}^{(1)}}{v_{pk}} < k$; while, $\frac{\omega_{pk}^{(1)}}{v_{pk}} = k - \frac{v_{p+1,k}}{v_{pk}} > k - \frac{k}{p+1} = \frac{pk}{p+1} \geq \frac{k}{2}$, then $\frac{k}{2} \leq \mu_k < k$. And hence, β can be independently from p and $\beta \in (0, 1]$.

Next, by Lemma 2.3, Lemma 2.8 and Lemma 2.9, for all $\alpha \in (0, \beta)$, we have

$$\begin{aligned} F_{pk}(\alpha A) - F_{pk}(\alpha B) &= p! \sum_{i=0}^{\infty} w_{pk}^{(i)} [(\alpha A)^i - (\alpha B)^i] \\ &= \alpha p! \left[w_{pk}^{(1)}(A - B) + \alpha \sum_{i=2}^{\infty} w_{pk}^{(i)} \alpha^{i-2} (A^i - B^i) \right] \\ &\geq \alpha p! \left[w_{pk}^{(1)} \varepsilon - \alpha \sum_{i=2}^{\infty} u_{ik} v_{pk} \|A^i - B^i\| \right] I \\ &\geq \alpha p! \left[w_{pk}^{(1)} \varepsilon - \alpha v_{pk} \sum_{i=0}^{\infty} u_{ik} (\|A\|^i + \|B\|^i) \right] I \\ &= \alpha p! \left[w_{pk}^{(1)} \varepsilon - \alpha v_{pk} (e^{k\|A\|} + e^{k\|B\|}) \right] I > 0. \end{aligned}$$

It gives the conclusion. □

To prove Theorem 2.1 in this paper, we have only to replace A and B by $\log A$ and $\log B$ respectively in Lemma 2.10.

LEMMA 2.11. *If we denote*

$$H_{pk}(t) = \frac{e^{kt}}{t^p} \left[\left(\frac{e^t - 1}{t} \right)^k - \sum_{j=1}^p v_{j-1,k} t^{j-1} \right],$$

then

$$H_{pk}(t) = \sum_{i=0}^{\infty} \omega_{pk}^{(i)} t^i \quad \text{for } p, k = 1, 2, \dots$$

where

$$\varpi_{pk}^{(i)} = \sum_{j=0}^i u_{i-j,k} v_{j+p,k} \quad \text{in which } u_{0k} = 1$$

as well as the relation $0 < \varpi_{pk}^{(i)} \leq \frac{(2k)^{i+p}}{(i+p)!}$ for $i = 0, 1, 2, \dots; p, k = 1, 2, \dots$.

LEMMA 2.12. *Let A and B be two self-adjoint operators on a Hilbert space H . If $A > B$, then for all integers $p \geq 1, k \geq 1$, there exists $\beta \in (0, 1]$ such that $H_{pk}(\alpha A) > H_{pk}(\alpha B)$ for all $\alpha \in (0, \beta)$.*

Proof. As $A > B$ holds, there exists $\varepsilon > 0$ such that $A - B \geq \varepsilon I > 0$. Choosing

$$\beta = \min \left\{ \frac{\varpi_{pk}^{(1)} \varepsilon}{\frac{e^{2k\|A\|}}{\|A\|^p} + \frac{e^{2k\|B\|}}{\|B\|^p}}, 1 \right\},$$

we obtain, by Lemma 2.9 and Lemma 2.11, for all $\alpha \in (0, \beta)$

$$\begin{aligned} H_{pk}(\alpha A) - H_{pk}(\alpha B) &= \sum_{i=0}^{\infty} \varpi_{pk}^{(i)} [(\alpha A)^i - (\alpha B)^i] \\ &= \alpha \left[\varpi_{pk}^{(1)} (A - B) + \alpha \sum_{i=2}^{\infty} \varpi_{pk}^{(i)} \alpha^{i-2} (A^i - B^i) \right] \\ &\geq \alpha \left[\varpi_{pk}^{(1)} \varepsilon - \alpha \sum_{i=2}^{\infty} \frac{(2k)^{i+p}}{(i+p)!} \|A^i - B^i\| \right] I \\ &\geq \alpha \left[\varpi_{pk}^{(1)} \varepsilon - \alpha \sum_{i=0}^{\infty} \frac{(2k)^{i+p}}{(i+p)!} \left(\frac{\|A\|^{i+p}}{\|A\|^p} + \frac{\|B\|^{i+p}}{\|B\|^p} \right) \right] I \\ &\geq \alpha \left[\varpi_{pk}^{(1)} \varepsilon - \alpha \left(\frac{e^{2k\|A\|}}{\|A\|^p} + \frac{e^{2k\|B\|}}{\|B\|^p} \right) \right] I > 0. \end{aligned}$$

It gives the conclusion. □

THEOREM 2.13. *Let A and B be two strictly positive operators on a Hilbert space H . If $\log A > \log B$ with $1 \notin \sigma(A), \sigma(B)$, then for all integers $p \geq 1, k \geq 1$, there exists $\beta \in (0, 1]$ such that $h_{pk}(A^\alpha) > h_{pk}(B^\alpha)$ for all $\alpha \in (0, \beta)$, where $v_{0k} = 1$,*

$$h_{pk}(t) = \frac{t^k}{\log^p t} \left[\left(\frac{t-1}{\log t} \right)^k - \sum_{j=1}^p v_{j-1,k} \log^{j-1} t \right], \quad p, k = 1, 2, \dots$$

Proof. We have only to replace A and B by $\log A$ and $\log B$ respectively in Lemma 2.12. □

Acknowledgement. The authors would like to express their thanks to the referee for the valuable advice to our first version.

REFERENCES

- [1] S. IZUMINO AND N. NAKAMURA, *Operator monotone functions induced from Löwner-Heinz inequality and strictly chaotic order*, *Math. Inequal. Appl.*, **7** (2004), 103–112.
- [2] K. LÖWNER, *Über monotone Matrixfunktionen*, *Math. Ann.*, **38** (1934), 177–216.
- [3] M. K. KWONG, *Some results on matrix monotone functions*, *Linear Algebra Appl.*, **118** (1989), 129–153.
- [4] T. FURUTA, *An operator monotone function $\frac{t \log t - t + 1}{\log^2 t}$ and strictly chaotic order*, *Linear Algebra Appl.*, **341** (2002), 101–109.
- [5] J. F. JIANG AND L. ZHANG, *Two sequence of operator monotone functions*, 14th conferece of the inter. Linear Algebra Soc. (2006), 103–106.

(Received January 25, 2011)

Jianfei Jiang
Department of Applied Mathematics
Donghua University
Shanghai, 201620, P.R. China
e-mail: jjf@dhu.edu.cn

Hongliang Zuo
College of Mathematics and Information Science
Henan Normal University
Xinxiang, Henan, 453007, China
e-mail: zuodke@yahoo.com

Meiyan Wang
Department of Applied Mathematics
Donghua University
Shanghai, 201620, P.R. China
e-mail: wangmeiyan@yahoo.com